Nome:

ne: T. Data:

7.3.5a Expressdes em Z com Parénteses - Ganha, Perde e Multiplicacao

1. Elimine os parénteses e calcule:
a) +(-13) -(-12)-(21) +(+18)

e) (-43) +(+45)-(37)-(-23)

b) -(+40)-(-27) +(-36) +(+55)

f)-(82)-(-94)-(-80)+(-78)

c) +(21)-(25)-(-41) +(-29)

g) +(160) +(-125) + (-61) - (-42)

d) +(-37) -(-45)-(43) +(25)

h) (-102) +(+29) -(58) -(-113)

2. Elimine os parénteses e calcule:
a) +2x(-7) -3x(-5)

e) -2x(-17) -3x(+15)

b) -5x (-8)-4x (+12)

f)5x(+14)+4 x (-13)

C) 9x(-12)+8x(+12)

g) -9x(+102)-8x(-120)

d) -7x(-22)+10x (-13)

h) -6 x (-203) -7 x (+170)
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